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Q.1 Let k = (2012)2 + 22012. The unit digit of k is
(A) 0 (B) 2
(C) 4 (D) 6

Q.2 If 625 canbe written in the form ba 

then (a + b) is equal to
(A) 3 (B) 5
(C) 6 (D) 7

Q.3 The value of k for which the system of equations
kx – y = 2
6x – 2y = 3

has a unique solution, is
(A) = 3 (B)  3
(C)  0 (D) = 0

Q.4 If the sum of all the edges of a cube is 36 cm, then
the volume (in cm3) of that cube is
(A) 8 (B) 27
(C) 64 (D) 729

Q.5 For the set of numbers 2, 2, 4, 5 and 12, which of
the following statements is true ?
(A) Mean = Median (B) Mean > Mode
(C) Mean < Mode (D) Mode = Median

Q.6 In figure, ifAOB = 80° andABC = 30°, then
CAO is

30°

O

BA

C

80°

(A) 60° (B) 45°
(C) 40° (D) 35°

Q.7 If the sum of the roots of the equation
x2 – x =  (2x – 1) is zero, then  =
(A) – 2 (B) 2

(C)
2

1
(D)

2

1

Q.1 ekuk k = (2012)2 + 22012 gS] rks k dk bdkbZ vad gS
(A) 0 (B) 2
(C) 4 (D) 6

Q.2 ;fn 625 dks ba  ds :i esa fy[kk tk

ldrk gS] rks (a + b) dk eku gS
(A) 3 (B) 5
(C) 6 (D) 7

Q.3 k dk og eku] ftlds fy;s lehdj.kksa ds fudk;
kx – y = 2
6x – 2y = 3

dk vf}rh; gy gS] gksxk
(A) = 3 (B)  3
(C)  0 (D) = 0

Q.4 ;fn ,d ?ku ds lHkh fdukjksa (edges) dk ;ksx 36 lseh
gS] rks bl ?ku dk vk;ru (lseh3 esa) gksxk
(A) 8 (B) 27
(C) 64 (D) 729

Q.5 la[;kvksa 2, 2, 4, 5 ,oa 12 ds lewg ds fy;s fuEu esa ls
dkSuls dFku lR; gS ?
(A) ek/; = ekf/;dk (B) ek/; > cgqyd
(C) ek/; < cgqyd (D) cgqyd = ekf/;dk

Q.6 fp= esa] ;fnAOB = 80° ,oa ABC = 30° gS, rks
CAO gS

30°

O

BA

C

80°

(A) 60° (B) 45°
(C) 40° (D) 35°

Q.7 ;fn lehdj.k x2 – x =  (2x – 1) ds ewyksa dk ;ksx
'kwU; gS] rks  =
(A) – 2 (B) 2

(C)
2

1
(D)

2

1

ACME (10th Pass) 2012

Select the correct alternative. Only one is correct. [90×2 = 180]
There is NEGATIVE marking. For each wrong answer 0.5 mark will be deducted.
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Q.8 If one root of the equation x2 + ax + 3 = 0 is 1,
then its other root is
(A) 3 (B) – 3
(C) 2 (D) – 2

Q.9 In a quadrilateral ABCD, D = A = 90° and
C = 45°. The area of ABCD in square units, is
(A) 267
(B) 246

A B

CD
45°

17

12
(C) 276
(D) None

Q.10 In the subtractionshown,K, L, M andN are digits.
The value of (K + L + M + N) is

1544
1N4M
L3K5



(A) 20 (B) 19
(C) 16 (D) 13

Q.11 In the given figure if DE || BC then x is equal to
(A) 4
(B) 3 xx+3

3x+19

A

B C

E
3x+4

D(C) 2
(D) 1

Q.12 Let

N =




90cos30cot60sec30cosec

90cot545cos460tan60sec3
22

2222

then N, is
(A) composite.
(B) prime but not odd.
(C) relativelyprime with 1.
(D) rational which is not as integer.

Q.13 The value of k for which the system of equations
2x + 3y = 5
4x + ky = 10

has infinite numberof solutions, is
(A) 1 (B) 3
(C) 6 (D) 0

Q.14 The value of k for which the system of equations
x + 2y– 3 = 0 and 5x + ky+ 7 = 0 has no solution,
is
(A) 10 (B) 6
(C) 3 (D) 1

Q.8 ;fn lehdj.k x2 + ax + 3 = 0 dk ,d ewy 1 gS] rks
bldk nwljk ewy gS
(A) 3 (B) – 3
(C) 2 (D) – 2

Q.9 ,d prqHkqZt ABCD esa] D = A = 90° rFkk
C = 45° gS] rks oxZ bdkbZ esa ABCD dk {ks=Qy
gksxk
(A) 267
(B) 246

A B

CD
45°

17

12
(C) 276

(D) dksbZ ugha
Q.10 fn[kk;s x;s O;odyu esa K, L, M ,oa N vad gS] rks

(K + L + M + N) dk eku gS

1544
1N4M
L3K5



(A) 20 (B) 19
(C) 16 (D) 13

Q.11 fn;s x;s fp= esa ;fn DE || BC gS] rks x dk eku gS
(A) 4
(B) 3 xx+3

3x+19

A

B C

E
3x+4

D(C) 2
(D) 1

Q.12 ekuk

N =




90cos30cot60sec30cosec

90cot545cos460tan60sec3
22

2222

gS] rks N gS
(A) ;qXe
(B) vHkkT; ijUrq fo"ke ugha
(C) 1 ds lkFk lkisf{kd vHkkT;
(D) ifjes; tks fd iw.kkZad ugha gS

Q.13 lehdj.kksa ds fudk;
2x + 3y = 5
4x + ky = 10

ds gyksa dh la[;k vifjfer gksus ds fy;s k dk eku gksxk
(A) 1 (B) 3
(C) 6 (D) 0

Q.14 lehdj.kk s a ds fudk; x + 2y – 3 = 0 rFkk
5x + ky + 7 = 0 dk dksbZ gy ugha gksus ds fy;s k dk
eku gksxk
(A) 10 (B) 6
(C) 3 (D) 1
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Q.15 Which one of the following is a quadratic
equations?

(A) 09x3x2 2 

(B)
2x

x

3
x 

(C) 05xx2x2 

(D) 16x2 – 3 = (2x + 5) (5x – 3)

Q.16 If ax2 + bx + c = 0 has equal roots, then c =

(A)
a4

b2

(B)
a2

b

(C)
a4

b2
(D)

a2

b

Q.17 If one root of the equation 4x2 – 2x + ( – 4) = 0
be the reciprocal of the other, then  =
(A) – 8 (B) 8
(C) 4 (D) – 4

Q.18 Theareaof thelargest triangle thatcanbe inscribed
in a semi-circle of radius r, is
(A) r2 (B) 2 r2

(C) r3 (D) 2r3

Q.19 If diameter of a circle is increased by 40%, then
its area increases by
(A) 48 % (B) 40%
(C) 80% (D) 96%

Q.20 In figure, O is the centre of the circle and
DAB = 50°. Sum of the values of x and y is

50°

O C

D

BA

x y

(A) 210° (B) 220°
(C) 230° (D) 240°

Q.21 If
1037

523

y·x

y·x




can be written as n ba y·x

where a, bN, then the minimum possible value
of (a + b + n) is
(A) 58 (B) 28
(C) 25 (D) 16

Q.15 fuEu esa ls dkSulh ,d f}?kkr lehdj.k gS ?

(A) 09x3x2 2 

(B)
2x

x

3
x 

(C) 05xx2x2 

(D) 16x2 – 3 = (2x + 5) (5x – 3)

Q.16 ;fn ax2 + bx + c = 0 ds ewy leku gS] rks c =

(A)
a4

b2

(B)
a2

b

(C)
a4

b2
(D)

a2

b

Q.17 ;fn lehdj.k 4x2 – 2x + ( – 4) = 0 dk ,d ewy
nwljs ewy dk izfrykse gS] rks  =
(A) – 8 (B) 8
(C) 4 (D) – 4

Q.18 r f=T;k ds v)Zo`Ùk ds vUrfuZfgr lcls cM+s f=Hkqt dk
{ks=Qy gksxk
(A) r2 (B) 2 r2

(C) r3 (D) 2r3

Q.19 ;fn ,d o`Ùk ds O;kl esa 40% o`f) dh tkrh gS] rks
blds {ks=Qy esa fdruh o`f+) gksxh
(A) 48 % (B) 40%
(C) 80% (D) 96%

Q.20 fp= esa] O o`Ùk dk dsUnz gS rFkkDAB = 50° gS] rks
x ,oa y ds ekuksa dk ;ksxQy gS

50°

O C

D

BA

x y

(A) 210° (B) 220°
(C) 230° (D) 240°

Q.21 ;fn
1037

523

y·x

y·x




dks n ba y·x izdkj ls fy[kk tk

ldrk gS]
tgk¡ a, bN gS] rks (a + b + n) dk U;wure laHkkfor
eku gS
(A) 58 (B) 28
(C) 25 (D) 16
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Q.22 2 x + (2 + 5)y = y)53(x3 22  ,

then the value of
y

x
is

(A) – 1 (B) 1

(C) 23

2

(D) 2

3 2

Q.23 ABCD is a rectangle, E and F are mid points of

AD and AB respectively. If EF = 32 and

FC = 13 , then ratio 








AD

AB
is

(A) 6

(B) 35
A F

B

E

D C

(C) 5

(D) 63

Q.24 If ABG =
6

1
ABD ; FDE =

6

1
BDE

and BG || DF. The measure of angleC is
(A) 40°
(B) 36°

F

G
A

B

C
D

E

(C) 26°
(D) 30°

Q.25 The product of all values of x for which

f(x) =
24x10x

3x
2 


is undefined, is

(A) – 72 (B) – 24
(C) 18 (D)24

Q.26 Four congruent rectangles and a square are
assembled without overlapping to form a large
square, as shown. Each of the rectangles has a
perimeter of 40 cm. The total area of the large
square is
(A) 160 cm2

(B) 200 cm2

(C) 400 cm2

(D) 800 cm2

Q.22 2 x + (2 + 5)y = y)53(x3 22 

gS] rks
y

x
dk eku gS

(A) – 1 (B) 1

(C) 23

2

(D) 2

3 2

Q.23 ABCD ,d vk;r gS] E o F Øe'k% AD ,oa AB ds

e/; fcUnq gSA ;fn EF = 32 ,oa FC = 13 gS] rks

vuqikr 








AD

AB
gS

(A) 6

(B) 35
A F

B

E

D C

(C) 5

(D) 63

Q.24 ;fnABG =
6

1
ABD ; FDE =

6

1
BDE

,oa BG || DF gS] rks dks.k C dk eki gS
(A) 40°
(B) 36°

F

G
A

B

C
D

E

(C) 26°
(D) 30°

Q.25 x ds mu lHkh ekuksa dk xq.kuQy] ftuds fy;s

f(x) =
24x10x

3x
2 


vifjHkkf"kr gS] gksxk

(A) – 72 (B) – 24
(C) 18 (D)24

Q.26 fp=kuqlkj pkj lokZaxle vk;r ,oa ,d oxZ dks feykdj
,d nwljs ij j[ks fcuk ,d nh?kZ oxZ cuk;k tkrk gSA
izR;sd vk;r dk ifjeki 40 cm gS] rks nh?kZ oxZ dk dqy
{ks=Qy gS
(A) 160 cm2

(B) 200 cm2

(C) 400 cm2

(D) 800 cm2
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Q.27 Which one of the following identities wherever
defined simplifies to 2
(A) (1 + cot2A) sin2A

(B) sin2A +
Atan1

1
2

(C) (sec2 – 1) (cosec2 – 1)
(D) (1 + cot A – cosec A) (1 + tan A + sec A)

Q.28 If  is acute angle then




cos1

sin
is equal to

(A)




sin

cos1
(B)





cos

cos1

(C)




sin

cos1
(D)





cos

sin1

Q.29 If  is an acute angle such that sec2 = 3

then the value of



22

22

cosectan

cosectan
is

(A)
7

4
(B)

7

3

(C)
7

2
(D)

7

1

Q.30 The expression

        43232535 81·94·8  

when simplified reduces to
(A) an irrational number
(B) rational which is not an integer.
(C) an odd prime
(D) a natural number

Q.31 If one of the factors of the expression
a2 – 4a + 3 + 2b – b2 is (a + b – 3) then the
other factor is
(A) a – b + 1 (B) a – b – 1
(C) a + b – 1 (D) c – 2b – 1

Q.32 Which one of the following is not the factor of the
polynomial P(x) = x3 – 7x – 6?
(A) (x + 1) (B) x + 2
(C) (x – 3) (D) (x – 2)

Q.27 fuEu esa ls dkSulh ,d loZlfedk] tgk¡ ifjHkkf"kr gS]
ljy djus ij 2 gS
(A) (1 + cot2A) sin2A

(B) sin2A +
Atan1

1
2

(C) (sec2 – 1) (cosec2 – 1)
(D) (1 + cot A – cosec A) (1 + tan A + sec A)

Q.28 ;fn  U;wu dks.k gS] rks




cos1

sin
dk eku gS

(A)




sin

cos1
(B)





cos

cos1

(C)




sin

cos1
(D)





cos

sin1

Q.29 ;fn  ,d U;wudks.k bl izdkj gS fd sec2 = 3 gS] rks




22

22

cosectan

cosectan
dk eku gS

(A)
7

4
(B)

7

3

(C)
7

2
(D)

7

1

Q.30 O;atd

        43232535 81·94·8  

dks ljy djus ij gS
(A) ,d vifjes; la[;k
(B) ifjes; tks fd ,d iw.kkZad ugha
(C) ,d fo"ke vHkkT;
(D) ,d izkÑr la[;k

Q.31 ;fn O;atd a2 – 4a + 3 + 2b – b2 dk ,d xq.ku[k.M
(a + b – 3) gS] rks vU; xq.ku[k.M gS
(A) a – b + 1 (B) a – b – 1
(C) a + b – 1 (D) c – 2b – 1

Q.32 fuEu esa ls dkSulk cgqin P(x) = x3 – 7x – 6 dk
xq.ku[k.M ugha gS ?
(A) (x + 1) (B) x + 2
(C) (x – 3) (D) (x – 2)
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Q.33 The number which must be added to the
polynomial P(x) = (x3 + 2x2 + 3x + 1), to make it
exactly divisible by(x – 2), is
(A) – 23 (B) 23
(C) 17 (D) – 17

Q.34 The H.C.F. of P(x) = x2 – 5x + 6;
Q (x) = x2 + 7x – 18 and R(x) = x2 + 5x – 14, is
(A) (x – 3) (B) (x – 2)
(C) (x + 7) (D) (x + 9)

Q.35 The H.C.F. and L.C.M. of two polynomials of
degree two are (x + 3) and x3 + 6x2 + 11x + C
respectively, then the value of C, is
(A) 6 (B) – 6
(C) 3 (D) – 3

Q.36 The expression

  z)yx(yxzyx 

when simplified reduces to
(A) x – y (B) x + y
(C) x + y – z (D) x + y + z

Q.37 In the diagram, PQR, QST
and PSU are straight lines.
The value of x is
(A) 75

30°

S
x°

Q

125°
R

U
T

P

(B) 85
(C) 95
(D) 125

Q.38 In the diagram, the circle and the square have the
same centre O and equal areas. The circle has
radius 1 and intersects one side of the square at P
and Q. The length of PQ, is

(A) 4 – 

(B) 1

QP

O

(C) 2

(D) 4

Q.39 A square is cut into two equal rectangles, each
with perimeter 36. Find the area of the square.
(A) 36 (B) 100
(C) 144 (D) 196

Q.33 og la[;k] ftls cgqin P(x) = (x3 + 2x2 + 3x + 1)

esa tksMus ij ;g (x – 2) ls foHkkT; gks] gksxh
(A) – 23 (B) 23
(C) 17 (D) – 17

Q.34 P(x) = x2 – 5x + 6; Q (x) = x2 + 7x – 18 ,oa
R(x) = x2 + 5x – 14 dk egÙke lekioR;Z gS
(A) (x – 3) (B) (x – 2)
(C) (x + 7) (D) (x + 9)

Q.35 ;fn nks ?kkr ds nks cgqinksa ds egÙke lekioR;Z ,oa
y?kqÙke lekioR;Z Øe’k% (x + 3) ,oa
x3 + 6x2 + 11x + C gS] rks C dk eku gS
(A) 6 (B) – 6
(C) 3 (D) – 3

Q.36 O;atd

  z)yx(yxzyx 

dks ljy djus ij gS
(A) x – y (B) x + y
(C) x + y – z (D) x + y + z

Q.37 fp= esa] PQR, QST ,oa
PSU ljy js[kk,sa gS] rks
x dk eku gS
(A) 75

30°

S
x°

Q

125°
R

U
T

P

(B) 85
(C) 95
(D) 125

Q.38 fp= eas] o`Ùk ,oa oxZ leku dsUnz O ,oa cjkcj {ks=Qyksa
ds gSA o`Ùk dh f=T;k 1 gS rFkk ;g oxZ dh ,d Hkqtk
dks P rFkk Q ij dkVrk gS] rks PQ dh yEckbZ gS

(A) 4 – 

(B) 1

QP

O

(C) 2

(D) 4

Q.39 ,d oxZ dks nks cjkcj vk;rksa esa dkVk tkrk gS rFkk
izR;sd dk ifjeki 36 gS] rks oxZ dk {ks=Qy gS
(A) 36 (B) 100
(C) 144 (D) 196
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Q.40 LetA be nine timesB and the complement of
B be nine times the complement of A.
FindB.
(A) 6° (B) 8°
(C) 9° (D) 10°

Q.41 The sum of all values of x so that

   2x3x1x3x 22

816   , is
(A) 0 (B) 3
(C) – 5 (D) – 3

Q.42 If
a

1
a  = 5 then which one of the following is

correct?

(A) 2
2

a

1
a  = 27 (B) 4

4

a

1
a  = 517

(C)
2

a

1
a 








 = 23 (D)

2

2
2

a

1
a 








 = 525

Q.43 The hypotenuse of a right angled triangle exceeds
one side by 1 and the other by 18. The area of the
triangle, is
(A) 30 (B) 60
(C) 84 (D) 108

Q.44 If four different positive integers m, n, p and q
satisfythe equation

(7 – m)(7 – n)(7 – p)(7 – q) = 4,
then the sum (m + n + p + q) is equal to
(A) 21 (B) 24
(C) 26 (D) 28

Q.45 There are 24 students in a classroom. Six students
move from left side of the classroom to the right
side and now the right side has as many students
as the left side used to have. Number of children
which the left side originallyhas, is
(A) 12 (B) 15
(C) 18 (D) 20

Q.40 ekuk A ,B dk ukS xquk gS rFkk B dk iwjd A

ds iwjd dk ukS xquk gS] rks B dk eku gS
(A) 6° (B) 8°
(C) 9° (D) 10°

Q.41 x ds mu lHkh ekuksa dk ;ksxQy] tks bl izdkj gS fd

   2x3x1x3x 22

816   gS] gksxk
(A) 0 (B) 3
(C) – 5 (D) – 3

Q.42 ;fn
a

1
a  = 5 gS] rks fuEu esa ls dkSulk ,d lR; gS?

(A) 2
2

a

1
a  = 27 (B) 4

4

a

1
a  = 517

(C)
2

a

1
a 








 = 23 (D)

2

2
2

a

1
a 








 = 525

Q.43 ,d ledks.k f=Hkqt dk fod.kZ ,d Hkqtk ls 1 ,oa rFkk
vU; Hkqtk ls 18 vf/kd gS] rks f=Hkqt dk {ks=Qy gS
(A) 30 (B) 60
(C) 84 (D) 108

Q.44 ;fn pkj fofHkUu /kukRed iw.kkZad m, n, p ,oa qlehdj.k
(7 – m)(7 – n)(7 – p)(7 – q) = 4,

dks larq"V djrs gS] rks ;ksxQy (m + n + p + q) dk eku
gS
(A) 21 (B) 24
(C) 26 (D) 28

Q.45 ,d d{kk esa 24 fo|kFkhZ gSA N% fo|kFkhZ d{kk ds cka;h
vksj ls nka;h vksj pys tkrs gS rFkk vc nka;h vksj
fo|kFkhZ;ksa dh la[;k mruh gS ftruh dh cka;h vksj FkhA
nka;h vksj ds fo|kFkhZ;ksa dh okLrfod la[;k gS
(A) 12 (B) 15
(C) 18 (D) 20
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Q.46 An athelete completes a circular track of radius
14 m with a uniform speed of 11 m/s. Find the
time taken.

(A)
11

28
sec. (B) 8 sec.

(C)
11

14
sec. (D) 4 sec.

Q.47 Ratio of displacment to distance is:
(A) always < 1 (B) always = 1
(C) always > 1 (D) = or < 1

Q.48 If a body of mass 3 kg is dropped from the top of
a tower of height 50 m, then its K.E. after 3 sec
willbe
(A) 1350 J (B) 1070 J
(C) 750 J (D) zero

Q.49 A ball of mass 100 g and another ball of 120 g

moves towardseachotheralongthesamelinewith
speed 6 m/s and 5 m/s respectively. If they stick
to each other after colliding. What would be the
velocityof the combined mass after the collision?

(A)
11

60
m/s (B) 1 m/s

(C) zero (D)
11

52

Q.50 Two stones of masses 50 gram and 500 gram are
dropped from a height. Which stone will reach

the surface of earth first ? Neglect air resistance.
(A) 50 gm
(B) 500 gm
(C) both will reach together
(D) depends on the latitude of earth

Q.51 A boat floating in a water tank is carrying a
number of large stones. If the stones are unloaded
into water, what will happen to the water level :
(A) it falls
(B) it rises up
(C) remains unchanged
(D) none of these

Q.46 ,d /kkod 11 m/s dh ,dleku pky ls 14 m f=T;k

ds o`Ùkh; iFk dks iw.kZ djrk gSA blds fy;s yxk le;
Kkr dhft;sA

(A)
11

28
sec. (B) 8 sec.

(C)
11

14
sec. (D) 4 sec.

Q.47 foLFkkiu o nwjh dk vuqikr gksrk gS %

(A) lnk < 1 (B) lnk = 1

(C) lnk > 1 (D) = ;k < 1

Q.48 ;fn 3 kg nzO;eku dh ,d oLrq dks 50 m Å¡ps ,d

VkWoj ds 'kh"kZ ls fxjk;k tkrk gS] rks 3 sec i'pkr~

bldh xfrt ÅtkZ gksxh &
(A) 1350 J (B) 1070 J

(C) 750 J (D) 'kwU;

Q.49 100 g nzO;eku dh ,d xsan rFkk 120 g dh ,d vU;

xsan ,d&nwljs dh vksj leku js[kk ds vuqfn'k Øe'k%

6 m/s rFkk 5 m/s dh pky ls xfr djrh gSA ;fn os

VDdj ds i'pkr~ ,d&nwljs ls fpid tkrh gSA VDdj

ds i'pkr~ buds la;qDr nzO;eku dk osx D;k gksxk \

(A)
11

60
m/s (B) 1 m/s

(C) 'kwU; (D)
11

52

Q.50 50 xzke o 500 xzke nzO;eku ds nks iRFkjksa dks ,d

Å¡pkbZ ls fxjk;k tkrk gSA dkSulk iRFkj iF̀oh dh lrg

ij igys i¡gqpsxk \ ok;q izfrjks/k dks ux.; ekfu;sA
(A) 50 gm
(B) 500 gm

(C) nksuksa ,d&lkFk i¡gqpsaxsA

(D) i`Foh ds v{kka'k ij fuHkZj djrk gSA

Q.51 ,d rkykc esa rSj jgh ,d uko cM+h la[;k esa cM+s iRFkj

ys tk jgh gSA ;fn iRFkj ty esa fxjk fn;s tk;sa] rks

ikuh ds Lrj esa D;k ifjorZu gksxk \

(A) ;g de gks tkrk gSA

(B) ;g c<+ tkrk gSA

(C) vifjofrZr jgrk gSA

(D) buesa ls dksbZ ugha
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Q.52 A body undergoes a displacement of 8 m when a
force of 6N is applied. The direction of force
makes an angle of 60o with displacement. The
work done by the force on the body is-

(A) 24 J (B) 24 3 J

(C) 48 J (D) 24 5 J

Q.53 Two bodies with kinetic energies in the ratio 4 : 1
are moving with equal linear momentum. The
ratio of their masses is
(A) 1 : 2 (B) 1 : 1
(C) 4 : 1 (D) 1 : 4

Q.54 The to & fro motion of an object is known as
_________motion
(A) Rotatory (B) Simple harmonic
(C) Linear (D) Oscillatory

Q.55 The speed of a wave in a certain medium is 960
m/s. If 3600 waves pass over certain point of the
medium in 1 minute then the wavelength of wave
is
(A) 2 metres (B) 4 metres
(C) 8 metres (D) 16 metres

Q.56 A person clapped his hands near a cliff and heard
the echo after 5 s. What is the distance of the cliff
from the person if the speed of the sound, v is
taken as 346 m s–1 ?
(A) 1730 m (B) 3460 m
(C) 865 m (D) 6920 m

Q.57 Two bulbs have ratings 100 W, 220 V and 60 W,
220 V. Which one has a greater resistance?
(A) 100 W
(B) 60 W
(C) both have same resistance
(D) cannot be said.

Q.58 When two resistors of resistances R
1
and R

2
are

connected in parallel, the net resistance is 3 .
When connected in series, its value is 16. Cal-
culate the values of R

1
and R

2
.

(A) 6  and 10 
(B) 8  and 8 
(C) 14  and 2 
(D) 12  and 4 

Q.52 ,d oLrq ij 6N cy yxkus ij blesa 8m dk foLFkkiu

gksrk gSA cy dh fn'kk foLFkkiu ls 60o dk dks.k cukrh

gSA oLrq ij cy }kjk fd;k x;k dk;Z gSA

(A) 24 J (B) 24 3 J

(C) 48 J (D) 24 5 J

Q.53 nks oLrq;sa ftudh xfrt ÅtkZvksa dk vuqikr 4 : 1 gS]

cjkcj js[kh; laosx ls xfreku gSaA muds nzO;ekuksa dk

vuqikr gS %
(A) 1 : 2 (B) 1 : 1
(C) 4 : 1 (D) 1 : 4

Q.54 oLrq dh b/kj&m/kj xfr _________xfr dgykrh gSA

(A) ?kw.kZu (B) ljy vkorZ

(C) js[kh; (D) nkSyuh

Q.55 fdlh fuf'pr ek/;e esa ,d rjax dh pky 960 m/s gSA

;fn 1 feuV esa ek/;e ds fdlh fcUnq ls 3600 rjaxsa

xqtjrh gSa] rks rjax dh rjaxnS/;Z gS %

(A) 2 ehVj (B) 4 ehVj

(C) 8 ehVj (D) 16 ehVj

Q.56 ,d O;fDr ,d pV~Vku ds lehi rkyh ctkrk gS rFkk

5 s i'pkr~ mldh izfr/ofu lqurk gSA ;fn /ofu dh

pky v, 346 m s–1 yh tk;s] rks O;fDr ls pV~Vku dh

nwjh D;k gS ?
(A) 1730 m (B) 3460 m
(C) 865 m (D) 6920 m

Q.57 nks cYcksa ij 100 W, 220 V rFkk 60 W, 220 V

vafdr gSA dkSuls cYc dk izfrjks/k vf/kd gksrk gS \
(A) 100 W
(B) 60 W

(C) nksuksa dk izfrjks/k leku gksrk gSA

(D) dgk ugha tk ldrkA

Q.58 tc R
1
o R

2
izfrjks/kksa ds nks izfrjks/kdksa dks lekUrj Øe

esa tksM+k tkrk gS] rks dqy izfrjks/k 3 gksrk gSA tc mUgsa
Js.khØe esa tksM+k tkrk gS] rks bldk eku 16gksrk gSA

R
1
o R

2
ds ekuksa dh x.kuk dhft;sA

(A) 6  o 10 

(B) 8  o 8 

(C) 14  o 2 

(D) 12  o 4 
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Q.59 Find the equivalent resistance between a and b in
thefollowingcircuit.

4.1 

2.0 

3.8 

3.0 

5.0 

a

b

(A) 17.9  (B) 8.7 
(C) 9.5  (D) 16.5 

Q.60 Draw the pattern of field lines due to a solenoid
carrying electric current as shown.

(A)

i

(B)

i

(C)

i

(D)

i

Q.61 A vertical wire is carrying current in the upward
direction. Then the direction of magnetic field in
the west direction will be
(A) towards east (B) towards south
(C) towards west (D) towards north

Q.59 fuEu ifjiFk esa a o b ds e/; rqY; izfrjks/k Kkr dhft;sA

4.1 

2.0 

3.8 

3.0 

5.0 

a

b

(A) 17.9  (B) 8.7 
(C) 9.5  (D) 16.5 

Q.60 n'kkZ;s vuqlkj fo|qr /kkjkokgh ifjukfydk ds dkj.k

mRiUu {kS= js[kkvksa dk izfr:i crkb;sA

(A)

i

(B)

i

(C)

i

(D)

i

Q.61 ,d Å/oZ rkj esa /kkjk Åij dh fn'kk esa izokfgr gS] rks

if'pe fn'kk esa pqEcdh; {kS= dh fn'kk gksxhA

(A) iwoZ dh vksj (B) nf{k.k dh vksj

(C) if'pe dh vksj (D) mÙkj dh vksj
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Q.62 What is OTEC?
(A) Power plants using energy contained in
oceans.
(B) A group of countries exporting petroleum
products.
(C) A technology using bio mass to produce
energy
(D)Afarm which is run onlyon solar energy.

Q.63 A needle placed 45 cm from the lens forms an
image on a screen placed 900 cm on the other
side of the lens. Identify the type of the lens and
determine its focal length.
(A) Convex lens, 4 cm approx.
(B) Convex lens, 15 cm approx.
(C) Convex lens, 37 cm approx.
(D) Concave lens, 7 cm approx.

Q.64 An object 4 cm in size is placed at 25 cm in front
of a concave mirror of focal length 15 cm. The
nature of image is
(A) virtual, magnified and erect
(B) real, magnified and erect
(C) real, magnified and inverted
(D) real, diminished and inverted.

Q.65 A ray of light passes through four transparent
media with refractive indices µ

1
, µ

2
, µ

3
and µ

4
as

shown in the figure. The surfaces of all media are
parallel. If the emergent ray CD is parallel to the
incident rayAB, we must have

µ2µ1 µ3 D

µ4

C

B

A

(A) µ
1
= µ

2
(B) µ

2
= µ

3

(C) µ
3
= µ

4
(D) µ

4
= µ

1

Q.66 What happens to the image distance in the eye
when we increase the distance of an object from
the eye?
(A) increase
(B) remains same
(C) decreases
(D) depends on the magnitude of distance

Q.62 OTEC D;k gS ?

(A) lkxj esa fufgr ÅtkZ dk mi;ksx djus okys fctyh

la;=

(B) isVªksfy;e inkFkksZ dk fu;kZr djus okys ns'kksa dk

lewg

(C) ÅtkZ fuekZ.k ds fy;s tSo Hkkj dk mi;ksx djus

okyh ,d rduhd

(D) ,d [ksr tks dsoy lkS;Z ÅtkZ ij dk;Z djrk gSA

Q.63 ySUl ls 45 cm ij fLFkr ,d lqbZ ySUl ds nwljh vksj

900 cm ij fLFkr insZ ij ,d izfrfcEc cukrh gSA ySUl
dk izdkj igpkfu;s rFkk bldh Qksdl nwjh Kkr dhft;sA

(A) mÙky ySUl, yxHkx 4 cm

(B) mÙky ySUl, yxHkx 15 cm

(C) mÙky ySUl, yxHkx 37 cm

(D) vory ySUl, yxHkx 7 cm

Q.64 4 cm vkdkj dh ,d oLrq 15 cm Qksdl nwjh ds ,d

vory niZ.k ds lkeus 25 cm ij fLFkr gSA izfrfcEc

dh izd`fr gSA

(A) vkHkklh] vkof/kZr rFkk lh/kk

(B) okLrfod] vkof/kZr rFkk lh/kk

(C) okLrfod, vkof/kZr rFkk mYVk

(D) okLrfod, NksVk rFkk mYVk

Q.65 ,d izdk'k fdj.k fp= esa n'kkZ;s vuqlkj µ
1
, µ

2
, µ

3
oµ

4

viorZukadksa okys pkj ikjn'kZd ek/;eksa ls xqtjrh gSA

lHkh ek/;eksa dh lrg lekUrj gSA ;fn fuxZr fdj.k

CD vkifrr fdj.k AB ds lekUrj gks] rks ek/;eksa ls

lEcfU/kr vko';d rF; gksxk %

µ2µ1 µ3 D

µ4

C

B

A

(A) µ
1
= µ

2
(B) µ

2
= µ

3

(C) µ
3
= µ

4
(D) µ

4
= µ

1

Q.66 tc ge uS= ls oLrq dh nwjh c<+krs gSa] rks uS= esa izfrfcEc

nwjh esa D;k ifjorZu gksrk gS \

(A) o`f} gksrh gSA

(B) leku jgrh gSA
(C) ?kVrh gSA

(D) nwjh ds ifjek.k ij fuHkZj djrk gSA
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Q.67 The power of my glasses is – 0.75 D. I wear
(A) converging lenses (B) diverging lenses
(C) bifocal lenses (D) None of these

Q.68 Whenachargedparticleentersauniformmagnetic
field itskinetic energy
(A) decreases (B) increases
(C) remain constant (D) becomes zero

Q.69 Arayof light incident the plane mirror normally.
What is the angle of incidence and angle of
reflection ?
(A) 0° and 0° (B) 90° and 90°
(C) 0° and 90° (D) 90° and 0°

Q.70 Which of the following is not a unit of time ?
(A) lunar month (B) light year
(C) century (D) microsecond

Q.71 You are listening to an “A” note playedon a violin
string.Let thesubscript “s” refer to theviolin string
and “a” refer to the air. Then:
(A) fs = fa and s = a
(B) s = a but fs  fa
(C) s  a and fs  fa
(D) fs = fa but s  a

Q.72 Earth receives energyfrom sun at the rate of P per
unit area per unit time. Taking the radius of the
earth to be R, find the solar energy received by
the earth in one second.
(A) R2P (B) 2R2P
(C) 3R2P (D) 4R2P

Q.67 esjs p'esa ds dk¡p dh {kerk – 0.75 D gS] eSa igurk gw¡%

(A) vfHklkjh ySUl (B) vilkjh ySUl

(C) f}Qksdl ySUl (D) buesa ls dksbZ ugha

Q.68 tc ,d vkosf'kr d.k ,dleku pqEcdh; {kS= esa izos'k
djrk gS] rks bldh xfrt ÅtkZ %
(A) ?kVrh gSA (B) c<+rh gSA
(C) fu;r jgrh gSA (D) 'kwU; gks tkrh gSA

Q.69 ,d izdk'k fdj.k lery niZ.k ij vfHkyEcor~ :i ls
vkifrr gksrh gSA vkiru dks.k o ijkorZu dks.k D;k gSa\
(A) 0° o 0° (B) 90° o 90°

(C) 0° o 90° (D) 90° o 0°

Q.70 fuEu esa ls dkSulk ,d le; dk ek=d ugha gS \
(A) Y;wuj ekl (B) izdk'k o"kZ
(C) 'krkCnh (D) ekbØks lSd.M

Q.71 vki okW;fyu ds rkj ij ctus okys “A” Loj dks lqu jgs
gSaA ekukfd v{kj “s” okW;fyu ds rkj o “a” ok;q dks
O;Dr djrk gS] rks :
(A) fs = fa rFkk s = a

(B) s = a ysfdu fs  fa

(C) s  a rFkk fs  fa

(D) fs = fa ysfdu s  a

Q.72 ìFoh lw;Z ls P izfr ,dkad {ks=Qy izfr ,dkad le; dh
nj ls ÅtkZ izkIr djrh gSA iF̀oh dh f=T;k R ekusa] ,d
lSd.M esa i`Foh }kjk izkIr lkS;Z ÅtkZ Kkr dhft;sA
(A) R2P (B) 2R2P
(C) 3R2P (D) 4R2P
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Q.73 A hydrocarbon was found to have 84% carbon

by mass. Which of the following may be its

molecular formula.

(A) CH4 (B) C7H16

(C) C10H22 (D) C7H10

Q.74 Which of the following options have correct

sequence of solution in increasing order of pH.

(A) Orange juice, Water, Milk of magnesia

(B) Water, Orange juice, Milk of magnesia

(C) Milk of magnesia, Water, Orange juice

(D) Milk of magnesia, Orange juice, Water

Q.75 Which of the followingstatements is correctwith

respect to Rutherford Model & Bohr's model of

an atom?

(A) An electron (while being in an orbit) as per

Rutherford model should radiate energybutas per

Bohr's model will not radiate energy.

(B) The valence electron of potassium (Atomic

no.19) goes in the 'M' shell as per Bohr's atom.

(C) Nucleus of an atom as per Rutherford model

occupies approximatelyhalf the atom.

(D)As per Bohr's model, electrons can present in

anycircularorbitsatanydistancefromthenucleus.

Q.76 Which of the following options contains correct

match of True (T) and False (F) statements with

respect to extraction of metal from their ores.

(I) Magnesium metal is obtained from its ore

through electrolysis in which it gets deposited at

cathode.

(II) Copper metal is refined electrolyticallyand is

obtained in pure from at anode.

(III) Sulphidesores of Zn are subjected to roasting

while carbonate ores are subjected to calcination.

(A) TFT (B) TTT

(C) TTF (D) FFF

Q.73 ,d gkbMªksdkcZu esa 84% ¼nzO;eku ls½ dkcZu mifLFkr

gSA fuEu esa ls dkSulk bldk v.kqlw= gksxk&
(A) CH4 (B) C7H16

(C) C10H22 (D) C7H10

Q.74 fuEu esa ls dkSuls fodYi esa foy;uks dk Øe pH ds

lgh vkjksgh Øe esa gS&

(A) larjs dk jl] ty] feYd vkWQ eSfXuf'k;k

(B) ty] larjs dk jl] feYd vkWQ eSfXuf'k;k

(C) feYd vkWQ eSfXuf'k;k] ty] larjs dk jl

(D) feYd vkWQ eSfXuf'k;k] larjs dk jl] ty

Q.75 ,d ijek.kq ds jnjQksMZ rFkk cksgj ekWMy ds lanHkZ esa

fuEu esa ls dkSulk dFku lgh gS \

(A) ,d bysDVªkWu ¼tc og d{k esa gS½ jnjQksMZ ekWMy ds

vuqlkj ÅtkZ mRlftZr djrk gS ysfdu cksgj ekWMy ds

vuqlkj ÅtkZ mRlftZr ugh djrk gS

(B) ikSVsf'k;e dk la;ksth bysDVªkWu (ijek.kq Øekad

19) cksgj ekWMy ds vuqlkj 'M' dks'k esa tkrk gS

(C) jnjQksMZ ekWMy ds vuqlkj ijek.kq dk ukfHkd

ijek.kq dk yxHkx vk/kk Hkkx ?ksjrk gS

(D) cksgj ekWMy ds vuqlkj] bysDVªkWu ukfHkd ls fdlh

Hkh nwjh ij fdlh Hkh d{k esa mifLFkr gks ldrs gS

Q.76 v;Ld ls /kkrq ds fu"d"kZ.k ds lanHkZ esa lgh (T) rFkk

xyr (F) dk lgh feyku okyk dFku fuEu esa ls fdl

fodYi esa gS&

(I) eSfXuf'k;e /kkrq dks blds v;Ld ls fo|qr vi?kVu

}kjk çkIr fd;k tkrk gSA ftlesa ;g dSFkksM+ ij ,df=r

gksrk gS

(II) dkWij /kkrq dks fo|qr vi?kVu ds }kjk 'kksf/kr fd;k

tkrk gS rFkk 'kq) :i esa ,uksM ij ,df=r gksrk gS

(III) Zn ds lYQkbM v;Ld dk HktZu fd;k tkrk gS

tcfd dkcksZusV v;Ld dk fuLrkiu fd;k tkrk gS
(A) TFT (B) TTT

(C) TTF (D) FFF
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Q.77 Whichofthefollowingoptionsiscorrectregarding

correct matching of the two columns.

Column I Column II

(i) Liquid phase Can diffuse in all the

volumeavailable.

(ii) Gas phase Will have the fastest rate

ofdiffusion.

(iii) Solid phase Strong interparticle

attractions.

(A) Only(iii) is incorrectlymatched

(B) Both (ii) & (iii) are incorrectlymatched

(C) Only (i) is incorrectlymatched

(D)All are correctly matched.

Q.78 How manytimes is the sulphur atom heavier with

respect to carbon-12 if atomic weight of sulphur

is 32.

(A) 32 (B) 384

(C)
8

3
(D)

3

8

Q.79 From thefollowing information on the position of

the following substances in modern periodic table

identify the correct options.

Info I : Element 'R' belongs to oxygen familyand

lies in 4th period.

Info II:Element 'S' belongs to 2nd period

1st group.

Info III:Element 'T' belongs to 15th group

4th period.

Info IV:Element 'U' belongs to 2nd group

4th period.

(A) Out of the four, least electropositive is S

(B) Order of metallic nature is given by

U > T > R

(C) Oxide of U will be acidic

(D) Size of T < Size of R.

Q.80 An element exists in only two isotopic forms in

nature, one having 8 neutrons and other 10. Both

of them have eight protons each. If the average

atomic weight of the element is 16.2 u then %

abundance of isotope with 8 neutrons is

(A) 10 % (B) 80 %

(C) 90 % (D) 20 %

Q.77 nks LrEHkksa ds lgh feyku ds lanHkZ esa fuEu esa ls dkSulk

fodYi lgh gS&

LrEHk&I LrEHk&II

(i) nzo voLFkk miyC/k iw.kZ vk;ru esa

folfjr gksrk gS

(ii) xSl voLFkk folj.k dh nj lcls vf/kd

gksxh

(iii) Bksl voLFkk d.kksa ds e/; çcy vkd"kZ.k

(A) dsoy (iii) dk xyr feyku gS

(B) (ii) rFkk (iii) nksuks dk xyr feyku gS

(C) dsoy (i) xyr feyku gS

(D) lHkh dk lgh feyku gS

Q.78 dkcZu&12 ds lkis{k lYQj ijek.kq fdrus xquk Hkkjh gS]

;fn lYQj dk ijek.kq Hkkj 32 gSA
(A) 32 (B) 384

(C)
8

3
(D)

3

8

Q.79 vk/kqfud vkorZ lkj.kh esa fuEu inkFkksZ dh fLFkfr ij

fuEu fn, x, rF;ksa ¼vkWdM+ks½ ls lgh fodYi dks

igpkfu;sA

rF; I : rRo 'R' vkWDlhtu ifjokj ls lacaf/kr gS rFkk

4th vkorZ esa fLFkr gS

rF; II : rRo 'S' 2nd vkorZ 1st oxZ esa lacaf/kr gS

rF; III : rRo 'T' 15th oxZ 4th vkorZ ls lacaf/kr gS

rF; IV : rRo 'U' 2nd oxZ 4th vkorZ ls lacaf/kr gS

(A) pkjks esa ls] S lcls de fo|qr_.kh gS

(B) /kkfRod çd`fr dk Øe fuEu çdkj gS
U > T > R

(C) U dk vkWDlkbM vEyh; gksxk

(D) T dk vkdkj < R dk vkdkj

Q.80 ,d rRo çd`fr esa dsoy nks leLFkkfud ds :i esa

mifLFkr gS] ,d esa 8 U;wVªkWu rFkk nwljs esa 10 U;wVªkWu gSA

nksuks esa çR;sd esa 8 çksVkWu gSA ;fn rRo dk vkSlr

ijek.kq Hkkj 16.2 u gS rks 8 U;wVªkWu okys leLFkkfud dh

% miyC/krk gS&
(A) 10 % (B) 80 %

(C) 90 % (D) 20 %
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Q.81 Which of the following substances would ensure

relief to a Bee-sting?

(A) Common salt

(B)Acetic acid

(C) Baking soda

(D) Orange

Q.82 Which will be the correct IUPAC name for the

incorrect name 2-Bromo-1-Chloro Pentane-

4-ol.

(A) Same, the name is correct

(B) 2-Bromo-1-Chloro, Pentane-1-ol

(C) 4-Bromo-5-Chloro, Pentane-2-ol

(D) Chloro, Bromo, Pentanol

Q.83 Which of the following is an example of

homogenous mixture?

(A) Mist (B) Cheese

(C) Jelly (D)Aerated drinks

Q.84 A sample of a compound consists of C, H and N

only. If 24 gm of carbon, 6.022 × 1024 atoms of

hydrogen and 2 gm- atom of nitrogen is present

and vapour densityof the compound is 16.5, then

itsmolecular formula willbe.

(A) CH3NH2 (B) C2H10N

(C) C2H6N (D) CH3CH2NH2

Q.85 Number of covalent bonds in 3rd member of the

homologous series of alkynes will be

(A) 8 covalent bonds

(B) 6 covalent bonds

(C) 9 covalent bonds

(D) 11 covalent bonds

Q.86 Whichof thefollowingoptionscontainmaximum

number of total atoms.

(A) 32 gm of CH4

(B) 88 gm of CO2

(C) 3.2 gm of CH3OH

(D) 20 gm of H2

Q.81 fuEu esa ls fdl inkFkZ }kjk e/kqeD[kh ds Mad ds nnZ

ls vkjke feyrk gS \

(A) lk/kkj.k ued

(B) ,flfVd vEy

(C) [kkus dk lksMk ¼csfdax lksMk½

(D) larjk

Q.82 xyr uke 2-czkseks-1-DyksjksisUVsu-4-vkWy dk fuEu es ls

dkSulk lgh IUPAC uke gksxk&

(A) leku] uke lgh gS

(B) 2-czkseks-1-Dyksjks isUVsu-1-vkWy

(C) 4-czkseks-5-Dyksjks isUVsu-2-vkWy

(D) Dyksjks czkseks isUVsukWy

Q.83 fuEu esa ls dkSulk lekaxh feJ.k dk ,d mnkgj.k gS \

(A) /kqa/k (B) iuhj ¼Cheese½

(C) tSyh (D) ok;q ;qDr is; inkFkZ

Q.84 ,d ;kSfxd ds çfrn'kZ ¼uewus½ esa dsoy C, H rFkk N

mifLFkr gSA ;fn 24 gm dkcZu] 6.022 × 1024 ijek.kq

gkbMªkstu rFkk 2 gm- ijek.kq ukbVªkstu mifLFkr gS

rFkk ;kSfxd dk ok"i ?kuRo 16.5 gS] rks bldk v.kqlw=

gksxk&
(A) CH3NH2 (B) C2H10N

(C) C2H6N (D) CH3CH2NH2

Q.85 ,YdkbZu ds ltkrh; Js.kh ds 3rdlnL; esa lgla;kstd

ca/kks dh la[;k gksxhA

(A) 8 lgla;kstd ca/k

(B) 6 lgla;kstd ca/k

(C) 9 lgla;kstd ca/k

(D) 11 lgla;kstd ca/k

Q.86 fuEu esa ls fdl fodYi esa dqy ijek.kqvksa dh la[;k

vf/kdre gksxhA

(A) CH4ds 32 gm

(B) CO2 ds 88 gm

(C) CH3OH ds 3.2 gm

(D) H2 ds 20 gm
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Q.87 A metal forms a single type of chloride MCl2. If it

forms a mixed salt of phosphate and sulphate with

water of crystallization 6 times of total number of

metal atom then the formula of the mixed salt will

be?

(A) MPO4. MSO4. 12H2O

(B) M3(PO4)2. MSO4. 24H2O

(C) M(PO4)2. M(SO4)2.12H2O

(D) M2(PO4)3. MSO4. 21H2O

Q.88 A tri-positive ion of an atom consists of 7

electrons & 9 neutrons. Its mass number will be

(A) 19 (B) 16

(C) 13 (D) 20

Q.89 Consider the followingsequence of reactions:

P
Q

R

conc. / hot

alk.KMnO4 +

H SO2 4

heat

(I) (II) R + P S

If S in a sweet-smelling substance and consists of

total 4 carbon atom then identify the statement

which is not correct.

(A) Q is the first member ofhomologous series of

alkenes

(B) R is propionic acid and P is methanol

(C) Molar mass of S is 88 gms.

(D)RshouldbeacarboxylicacidandPanalcohol.

Q.90 Which of the followingstatements regarding laws

of chemical combination is incorrect.

(A)Lawofconservationofmass isapplicableonly

for chemical reactions&not fornuclear reactions,.

(B) In any sample of ammonia gas, nitrogen &

hydrogen will be present in a ratio of 1 :3 bymass.

(C) 2 gm of hydrogen gas on complete reaction

with 71gm of chlorine gaswill give 73 gmof HCl

gas.

(D) If 36 gm of water is decomposed into

hydrogen and oxygen gas then always 4 gm of H2

& 32 gm of O2 gas will be obtained.

Q.87 ,d /kkrq ,dy çdkj dk DyksjkbM MCl2 cukrk gSA

;fn bl /kkrq ijek.kq dh dqy la[;k ds 6 xquk QkWLQsV]

lYQsV rFkk fØLVyu dk ty dk la;qDr yo.k cukrk

gS] rks la;qDr yo.k ¼fefJr yo.k½ dk lw= D;k gksxk \
(A) MPO4. MSO4. 12H2O

(B) M3(PO4)2. MSO4. 24H2O

(C) M(PO4)2. M(SO4)2.12H2O

(D) M2(PO4)3. MSO4. 21H2O

Q.88 ,d ijek.kq ds f=/kukRed vk;u esa 7 bysDVªkWu rFkk 9

U;wVªkWu mifLFkr gS bldh nzO;eku la[;k gksxh
(A) 19 (B) 16

(C) 13 (D) 20

Q.89 vfHkfØ;k ds fuEu Øe ij fopkj dhft, %

P
Q

R

conc. / hot

alk.KMnO4 +

H SO2 4

heat

(I) (II) R + P S

;fn S e/kqj&xa/k ;qDr inkFkZ gS rFkk dqy 4 ijek.kq

mifLFkr gS rks fuEu esa ls dkSulk dFku xyr gSA

(A) Q ,Ydhuks dh ltkfr; Js.kh dk çFke lnL; gS

(B) R çksfivksfud vEy rFkk P esFksukWy gS

(C) S dk eksyj nzO;eku 88 gms gS

(D) R dkcksZfDlfyd vEy gks ldrk gS rFkk P ,d

,YdksgkWy gS

Q.90 jklk;fud la;ksx ds fu;e ds lanHkZ esa fuEu esa ls

dkSulk dFku xyr gS \

(A) nzO;eku laj{k.k dk fu;e dsoy jklk;fud

vfHkfØ;kvksa ij ykxw gksrk gS rFkk ukfHkdh; vfHkfØ;kvksa

ij ykxw ugh gksrk gS

(B)veksfu;k xSl ds fdlh Hkh çfrn'kZ ¼uewus½ esa] ukbVªkstu

rFkk gkbMªkstu nzO;eku ls 1 : 3 ds vuqikr esa gksxs

(C) 2 gm gkbMªkstu xSl 71 gm Dyksjhu xSl ls iw.kZ

vfHkfØ;k djds 73 gm HCl xSl nsxk

(D) ;fn 36 gm ty] gkbMªkstu rFkk vkWDlhtu xSl esa

vi?kfVr gksrk gS rks lnSo 4 gm H2 rFkk 32 gm O2

xSl çkIr gksxh




